Mod. Ques. Chem 059

Chemistry

Model Questions 2059

In the entrance examination only twenty-five questions will be asked out of the total included model questions.

1.
Which one is an unsaturated compound:

	(a)
	C6 H4
	(
	(b)
	C4H8
	(

	(c)
	CH3 OH
	(
	(d)
	C3H7OH
	(


2.
Petroleum consists mainly of:

	(a)
	Aliphatic hydrocarbons
	(
	(b)
	Aromatic hydrocarbons
	(

	(c)
	Aliphatic alcohols
	(
	(d)
	None of these
	(


3.
Process of vanaspati ghee preparation from vegetable oils is nothing but:

	(a)
	Hydrogenation of triple bonds present in vegetable oils
	(
	(b)
	Hydrogenation of double bonds present in vegetable oils
	(

	(c)
	Oxygenation of the oils to make them solidify
	(
	(d)
	None of the above
	(


4.
Hydrocarbons contain:

	(a)
	Elements carbon and hydrogen only
	(
	(b)
	Carbon and hydrogen but many contain oxygen too
	(

	(c)
	Essentially C, H & O
	(
	(d)
	Any compound containing C and H is called hydrocarbon
	(


5.
Which gas is used for ripening citrus fruits?

	(a)
	Methane
	(
	(b)
	Ethane
	(

	(c)
	 Ethylene
	(
	(d)
	All the above
	(


6. An olefinic compound upon ozonolysis gives one mole each of formaldehyde, acetaldehyde and methyl glyoxal

The parent compound is:

	(a)
	CH3-CH =CH-CH2-CH=CH2
	(
	(b)
	CH3-CH=C(CH3)-CH=CH2
	(

	(c)
	CH3-CH=CH-CH=CH2
	(
	(d)
	CH2=CH-CH=CH
	(


7
Pressure cooker reduces cooking time because:

	(a)
	The heat is more evenly distributed
	(
	(b)
	The higher pressure tenderizes the food
	(

	(c)
	The boiling point of the water inside is elevated
	(
	(d)
	A larger flame is used
	(


8.
The reaction: C2H5ONa + IC2H5  ---------(  C2H5OC2H5 + NaI   is known as:

	(a)
	 Williamson's synthesis
	(
	(b)
	Wurtz's synthesis
	(

	(c)
	Kolbe's synthesis
	(
	(d)
	Grignard synthesis
	(


9.
Which of the following do not give effervescences with NaHCO3?

	(a)
	Phenol
	(
	(b)
	Benzoic acid
	(

	(c)
	2, 4-dinitrophenol
	(
	(d)
	2, 4, 6-trinitrophenol
	(


10.
Which of the following is a simple ether:

	(a)
	C2H5OCH3
	(
	(b)
	CH3OCH3
	(

	(c)
	C6H5 --- O---CH3
	(
	(d)
	All of the above
	(


11.
IUPAC name of the compound CH3OC2H5 is:

	(a)
	Ethoxy ethane
	(
	(b)
	Methoxy ethane
	(

	(c)
	Methyl ethyl Ether
	(
	(d)
	Ethyl methyl ether
	(


12.
Predict of product of the following reaction:  C2H5Br + C H5 Ona  ----(   ?

	(a)
	 CH3 OCH3
	(
	(b)
	C2H5 OC2H5
	(

	(c)
	CH3 OC2H5
	(
	(d)
	All of the above
	(


13.Purest form of carbon is:

	(a)
	Peat
	(
	(b)
	lignite
	(

	(c)
	Bituminous
	(
	(d)
	Anthracite
	(


14.
Which of the following is known as king of chemicals?

	(a)
	H2O
	(
	(b)
	H2 SO4
	(

	(c)
	 C6H6
	(
	(d)
	CH4
	(


15.
The process of converting hydrated alumina into anhydrous alumina is called:

	(a)
	 Roasting
	(
	(b)
	Smelting
	(

	(c)
	Dressing
	(
	(d)
	Calcination
	(


16
Impurities physically associated with minerals are:

	(a)
	Slag
	(
	(b)
	Flux
	(

	(c)
	Alloy
	(
	(d)
	Matrix
	(


17
An alloy is:

	(a)
	Inter-metallic compound
	(
	(b)
	A solid having non metal
	(

	(c)
	A solid having two or more metals or non-metals
	(
	(d)
	None of these
	(


18.
A mineral is known as an ore of a metal, if the metal:

	(a)
	Can not be produced from it
	(
	(b)
	Can be produced from it
	(

	(c)
	is very costly
	(
	(d)
	 Can be produced from it profitably
	(


19.
The waste material in an ore is called:

	(a)
	Flux 
	(
	(b)
	Gangue
	(

	(c)
	Matte
	(
	(d)
	Mineral
	(


20.
A mixture of two gases, having partial pressures P1 and P2, has total pressure P, then:

	(a)
	P = P1 +P2
	(
	(b)
	P = 
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	(c)
	P = P1 ( P2
	(
	(d)
	P = (P1 + P2)/2
	(


21.
The partial pressure of a dry gas is:

	(a)
	Less than that of wet gas
	(
	(b)
	Greater than that of wet gas
	(

	(c)
	Equal to that of wet gas
	(
	(d)
	None
	(


22.
In diamond crystal, carbon is:

	(a)
	sp  hybridised
	(
	(b)
	 sp2 hybridised
	(

	(c)
	 sp3 hybridised
	(
	(d)
	None
	(


23.
In graphite crystal, carbon is:

	(a)
	 sp hybridised
	(
	(b)
	 sp2 hybridised
	(

	(c)
	  sp3 hybridised
	(
	(d)
	 None
	(


24.
Which one of the following gas has the greatest rate of diffusion?

	(a)
	H2
	(
	(b)
	CO2
	(

	(c)
	NH3
	(
	(d)
	O2
	(


25.
The critical temperature of a substance is defined as:

	(a)
	The temperature above which the substance decomposes
	(
	(b)
	The temperature above which a substance can exist only as a gas
	(

	(c)
	Melting point of the substance
	(
	(d)
	Boiling point of the substance
	(


26.
The electronic configuration of P is:

	(a)
	1s2, 2s2 2p6, 3s2 3px2 3py1 3pz 0
	(
	(b)
	1s2, 2s2 2p6, 3s2 3px1 3py1 3pz 1 
	(

	(c)
	[Ne] 3s2 , 3px2 3pxz 3py 2  
	(
	(d)
	[Ne] 3s2, 3px2
	(


27.
Which is the correct increasing order of energy?

	(a)
	s < d < p < f
	(
	(b)
	s < p < d < f
	(

	(c)
	f < d < p < s
	(
	(d)
	None of these
	(


28.
La is a member of:

	(a)
	s-block
	(
	(b)
	d-block
	(

	(c)
	p-block
	(
	(d)
	f-block
	(


29.
K+, Ar, Ca+2 and S-2 have:

	(a)
	Same electron configuration and atomic volume
	(
	(b)
	Different electronic configuration but same I.P.
	(

	(c)
	Same electronic configuration but different atomic volume
	(
	(d)
	None
	(


30.
Which configuration represents a metallic element:

	(a)
	2, 8, 8
	(
	(b)
	2, 7
	(

	(c)
	2, 8, 2
	(
	(d)
	2, 8, 4
	(


31.
In K+ and F-, ionic radius of F- is high but atomic radius of K+ is 

	(a)
	Greater than F -
	(
	(b)
	Less than F -
	(

	(c)
	Equal to F-
	(
	(d)
	None of these
	(


32.
An element with atomic number 20 is:

	(a)
	An alkali metal
	(
	(b)
	An alkaline earth metal
	(

	(c)
	A halogen
	(
	(d)
	A rare gas
	(


33.
The ionic radius of Na+ is:

	(a)
	Equal to that of sodium atom 
	(
	(b)
	Greater than that of sodium atom
	(

	(c)
	Less than that of sodium atom
	(
	(d)
	 None of the above
	(


34.
The number of electrons involved in the bond formation of N2 molecule:

	(a)
	2
	(
	(b)
	4
	(

	(c)
	6
	(
	(d)
	10
	(


35.
'Lead Pencil' contains:

	(a)
	Lead sulphide and clay
	(
	(b)
	Lead and clay
	(

	(c)
	Graphite and clay
	(
	(d)
	Graphite and lead sulphide
	(


36.
Graphite is conductor but diamond is non-conductor because:

	(a)
	Diamond is hard and graphite is soft
	(
	(b)
	Graphite and diamond have different atomic configuration
	(

	(c)
	Graphite is composed of positively charged carbon ions
	(
	(d)
	Graphite has hexagonal layer structure with mobile electrons while diamond has continuous tetrahedral covalent structure with no free electrons. 
	(


37.
A pH of 7 signifies:

	(a)
	Pure water
	(
	(b)
	Neutral solution
	(

	(c)
	Basic solution
	(
	(d)
	Acidic solution
	(


38.
Hard water is not fit for washing clothes because:

	(a)
	It contains Na2 SO4 and KCl
	(
	(b)
	It gives precipitate with soap
	(

	(c)
	It contains impurities
	(
	(d)
	It is acidic in nature
	(


39.
Ortho and para hydrogen differ:

	(a)
	In the number of protons
	(
	(b)
	In the molecular weight
	(

	(c)
	In the nature of spins of protons
	(
	(d)
	In the nature of spins of electons
	(


40.
The colour of hydrogen is:

	(a)
	Black
	(
	(b)
	Yellow
	(

	(c)
	Change
	(
	(d)
	Colourless
	(


41.
The number of neutrons in D2 molecule is:

	(a)
	1
	(
	(b)
	2
	(

	(c)
	3
	(
	(d)
	4
	(


42.
The reddish brown coloured gas formed when nitric oxide is oxidized by air is:

	(a)
	N2O5
	(
	(b)
	N2 O4
	(

	(c)
	NO2
	(
	(d)
	N2O3
	(


43.
Fixation of nitrogen means its conversion to:

	(a)
	Liquid N2
	(
	(b)
	NH3
	(

	(c)
	HNO3
	(
	(d)
	Its useful compounds
	(


44.
Which of the following is an element?

	(a)
	 Silica
	(
	(b)
	 brass
	(

	(c)
	 glass
	(
	(d)
	graphite 
	(


45.
Air is

	(a)
	 a compound
	(
	(b)
	an element 
	(

	(c)
	 a mixture
	(
	(d)
	 an electrolyte
	(


46.
Which of the following processes results in the formation of a new chemical compound?

	(a)
	Dissolving common salt in water
	(
	(b)
	 heating water
	(

	(c)
	Heating platinum rod
	(
	(d)
	heating iron rod 
	(


47.
The particles present in equal numbers in neutral atoms are:

	(a)
	 electrons
	(
	(b)
	proton and neutron
	(

	(c)
	 Electron and proton
	(
	(d)
	 proton and position
	(


48.The nucleus of an atom contains:

	(a)
	 electrons
	(
	(b)
	protons alone 
	(

	(c)
	 neutron alone
	(
	(d)
	 protons & neutrons
	(


49.
22Na contain

	(a)
	 22 protons
	(
	(b)
	 protons alone
	(

	(c)
	 22 neutrons
	(
	(d)
	None of the above
	(


50.
Neutrons are presents in the nuclei of all element except

	(a)
	hydrogen 
	(
	(b)
	 oxygen
	(

	(c)
	 deuterium
	(
	(d)
	chlorine 
	(


51.The basis of modern periodic table is:

	(a)
	 atomic volume
	(
	(b)
	atomic number 
	(

	(c)
	 atomic weight
	(
	(d)
	 atomic size
	(


52.Which of the following electronic configuration represents a metal?

	(a)
	 2, 8, 8
	(
	(b)
	 2, 8, 2
	(

	(c)
	 2, 7
	(
	(d)
	 2, 8, 4
	(


53
Which of the following configuration represents an inert gas?

	(a)
	 2, 8, 1
	(
	(b)
	 2, 8, 2
	(

	(c)
	 2, 1, 7
	(
	(d)
	 2, 8, 8
	(


54.
Reduction involves

	(a)
	 gain of electrons
	(
	(b)
	 addition of oxygen
	(

	(c)
	 increase in oxidation number
	(
	(d)
	 loss of electrons
	(


55.
In an oxidation process, oxidation number:

	(a)
	 increase
	(
	(b)
	 decrease
	(

	(c)
	 does not change
	(
	(d)
	 first decrease then increases
	(


56.
Oxidation involves

	(a)
	 gain of electrons
	(
	(b)
	 loss electron
	(

	(c)
	 formation of negation ion
	(
	(d)
	 formation of positive ion
	(


57.
In a double bond connecting two atoms there is a sharing of:

	(a)
	 2 electrons
	(
	(b)
	 4 electrons
	(

	(c)
	 1 electron
	(
	(d)
	all electrons 
	(


58.
Carbon is typical:
	(a)
	 metal
	(
	(b)
	 non-metal
	(

	(c)
	 metalloid
	(
	(d)
	 non of these
	(


59.
Oxides of carbon are:

	(a)
	 gases
	(
	(b)
	liquid 
	(

	(c)
	 solids
	(
	(d)
	 vapours
	(


60.
Which of the following is a crystalline form of carbon

	(a)
	 charcoal
	(
	(b)
	 diamond
	(

	(c)
	 lamp block
	(
	(d)
	soot 
	(


61.
'Lead pencil' contains:

	(a)
	 graphite
	(
	(b)
	 Iron sulphide
	(

	(c)
	 lead
	(
	(d)
	 lead sulphide
	(


62.
Dry ice is composed of:

	(a)
	 solid ice
	(
	(b)
	solid CO2 
	(

	(c)
	solid SO2 
	(
	(d)
	 solid C6H6
	(


63.
Ozone is present in

	(a)
	 air
	(
	(b)
	 upper layer of air
	(

	(c)
	 sea water
	(
	(d)
	 none of above
	(


64.
Ammonia is

	(a)
	 acidic
	(
	(b)
	 basic
	(

	(c)
	 neutral
	(
	(d)
	 amphoteric
	(


65.
The laughing gas is

	(a)
	 nitrons oxide
	(
	(b)
	nitric oxide 
	(

	(c)
	 nitrogen trioxide
	(
	(d)
	nitrogen peroxide 
	(


66.
Baking soda is

	(a)
	 Na2CO3
	(
	(b)
	 NaHCO3
	(

	(c)
	 Na2SO4
	(
	(d)
	 K2CO3
	(


67.
Brass is an alloy of

	(a)
	 Cu and Zn
	(
	(b)
	 Fe and Zn
	(

	(c)
	 Cu & Al
	(
	(d)
	Fe & Cu 
	(


68.
Percentage of gold in 18 carrot is

	(a)
	 18
	(
	(b)
	 75
	(

	(c)
	 
83.6
	(
	(d)
	100 
	(


69.
The process of extracting the metal from its ore is called

	(a)
	 refining
	(
	(b)
	concentration 
	(

	(c)
	 leaching
	(
	(d)
	metallurgy 
	(


70.
The main constituent of bone is:

	(a)
	 CaCO3
	(
	(b)
	 CaF2
	(

	(c)
	 leaching
	(
	(d)
	 metallurgy
	(


71.
In lab preparation of oxygen gas which compound is used as a catalyst

	(a)
	 KMnO4
	(
	(b)
	 H2O2
	(

	(c)
	 MnO2
	(
	(d)
	 KClO3
	(


72
Sublimation is the process when a solid

	(a)
	 melts
	(
	(b)
	 boils
	(

	(c)
	 change to liquid form
	(
	(d)
	 change to vapour state without change in liquid
	(


73.
What is the atomic weight of carbon

	(a)
	 6
	(
	(b)
	 12
	(

	(c)
	 14
	(
	(d)
	 10
	(


74.
The symbol of the silver is

	(a)
	Au 
	(
	(b)
	 Hg
	(

	(c)
	 Ag
	(
	(d)
	 Fe
	(


75.
The atomic number of Zn is

	(a)
	29
	(
	(b)
	25
	(

	(c)
	 32
	(
	(d)
	 30
	(


76.
Which of the following equation is balanced?

	(a)
	 KClO3 -----     KCl + O2
	(
	(b)
	Zn +H2SO4 ------ ZnSO4+ H2 
	(

	(c)
	 H2SO4 + HaOH ---- Na2SO  +H2O
	(
	(d)
	2Mg+2CuSO4 -----2MgSO4+4Cu 
	(


77
Which substance does not dissolve in water?

	(a)
	 sugar

	(
	(b)
	 sand
	(

	(c)
	 salt
	(
	(d)
	soap
	(


78.
Maximum number of bonds between two atoms of covalent bond can be:

	(a)
	 four
	(
	(b)
	two
	(

	(c)
	three 
	(
	(d)
	 0ne
	(


79.
Which one of the following is not an organic compound

	(a)
	 hexane
	(
	(b)
	 urea
	(

	(c)
	 ammonium hydroxide
	(
	(d)
	 spirit
	(


80.
Which of the following alkaline earth metals is present in chlorophyll?

	(a)
	 Ca
	(
	(b)
	 Mg
	(

	(c)
	 Ba
	(
	(d)
	Be
	(


81.
The process of removal of impurities from a curde metal is called.

	(a)
	 concentration
	(
	(b)
	calcinations 
	(

	(c)
	 refining
	(
	(d)
	 roasting
	(


82.
The most abundance gas in air is
	(a)
	 helium
	(
	(b)
	 xenon
	(

	(c)
	radon 
	(
	(d)
	 argon
	(


83.
Which one of the following element is used to make tooth paste?

	(a)
	 Cl
	(
	(b)
	 Br
	(

	(c)
	 F
	(
	(d)
	P
	(


84.
Permuted process is used to remove:

	(a)
	 Temporary hardness of water
	(
	(b)
	permanent hardness of water 
	(

	(c)
	Both temporary & permanent harness of water   
	(
	(d)
	 impurities of water
	(


85.
Which of the following gas is heavier than air?

	(a)
	 ammonia gas
	(
	(b)
	oxygen gas 
	(

	(c)
	hydrogen gas 
	(
	(d)
	 carbon dioxide gas
	(


86.
Which of the following element is not inert gas?

	(a)
	 sulphur
	(
	(b)
	 helium
	(

	(c)
	 neon
	(
	(d)
	argon 
	(


87.
Which of the following is decomposition reaction?


a.
2Na + Cl2
2 Na Cl


b.
CaCO3
CaO + CO2

c.
Mg + H2SO4
MgSO4 +H2

d.
2Al + 6Hcl
2AlCl3 + 3H2
88.
Which of the following is strong acid?

	(a)
	 acetic acid
	(
	(b)
	 oxalic acid
	(

	(c)
	 hydrochloric acid
	(
	(d)
	 formic acid
	(


89.
Impure table salt can be purified by

	(a)
	 filtration
	(
	(b)
	Sublimation 
	(

	(c)
	 crystallization
	(
	(d)
	 distillation
	(


90.
One molecule of glucose contain …. Molecules of carbon.

	(a)
	 One
	(
	(b)
	 Six
	(

	(c)
	 Twelve
	(
	(d)
	Two
	(


91.
Matter exist in  ….. states.

	(a)
	 One
	(
	(b)
	 Three
	(

	(c)
	 Four
	(
	(d)
	Two
	(


92.
Hydrogen is the …… element

	(a)
	 heaviest
	(
	(b)
	lightest 
	(

	(c)
	 None of above
	(
	(d)
	 
	(


93.
Physical properties of water and ice are …..

	(a)
	 Similar
	(
	(b)
	different 
	(

	(c)
	 non of above
	(
	(d)
	 
	(


94.
Sea weeds are important source of

	(a)
	 
fluorine
	(
	(b)
	chlorine 
	(

	(c)
	 bromine
	(
	(d)
	
iodine 
	(


95.
Blue vitriol is ….

	(a)
	 CusO4.H2O
	(
	(b)
	 CuCl2
	(

	(c)
	 FeSO4. 7H2O
	(
	(d)
	CuSo45H2O 
	(
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	(a)
	NAl
	(
	(b)
	KCL
	(

	(c)
	Na(NO3 )2
	(
	(d)
	Na2 CrO4
	(



97. The crystal of NaCL is :

	(a)
	Face centred cubic
	(
	(b)
	Body centred cubic
	(

	(c)
	Hexagonal
	(
	(d)
	Tetragonal
	(



98. The metal that gives hydrogen with dilute HNO3 :

	(a)
	Mg
	(
	(b)
	Zn
	(

	(c)
	Cu
	(
	(d)
	Fe
	(



99. The formula of an alkane is :

	(a)
	C5 H8 
	(
	(b)
	C3 H6
	(

	(c)
	C7 H16 
	(
	(d)
	C9 H10
	(



100. Carbon-carbon bond length is minimum is :

	(a)
	Ethane
	(
	(b)
	Ethene
	(

	(c)
	Methane
	(
	(d)
	Ethyne
	(



101. Natural gas contains mainly :

	(a)
	Methane
	(
	(b)
	n-butane
	(

	(c)
	n-octane
	(
	(d)
	Mixture of octane
	(
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